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EXAMINATION, 2020 

(Old Course) 

CHEMISTRY 

Paper Second 

(Organic Chemistry) 

Time : Three Hours 

Maximum Marks : 33 

uksV %uksV %uksV %uksV %    lHkh ik¡pik¡pik¡pik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d ,d ,d ,d iz’u    

djuk vfuok;Z gSA 

 Attempt all the five questions. One question from each 

Unit is compulsory. 

bdkbZbdkbZbdkbZbdkbZ&&&&1111    

(UNIT—1) 

1- ¼v½ fuEufyf[kr esa ls dkSu ukfHkdLusgh vfHkdeZd gS \ 1 

(i) NO 2
+   

(ii) BF3 

(iii) 3NHɺɺ   

(iv) AlCl3 
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Which of the following is nucleophile ? 

(i) NO 2
+   

(ii) BF3 

(iii) 3NHɺɺ   

(iv) AlCl3 

¼c½ ,fuyhu ,fFky ,ehu dh rqyuk esa de {kkjh; gS] vuqukn 

izHkko ds vk/kkj ij le>kb,A 3 

Explain, why aniline is less basic than ethyl amine 

on the basis of Resonance effect. 

¼l½ gdsy ds fu;e dh mnkgj.k lfgr O;k[;k dhft,A 3 

Explain Huckel’s rule with example. 

vFkokvFkokvFkokvFkok    

(Or) 

¼v½ dkcksZfu;e vk;u ds LFkkf;Ro dk Øe gS % 1 

(i) 1° > 2° > 3° 

(ii) 2° > 1° > 3° 

(iii) 3° > 2° > 1° 

(iv) 3° > 1° > 2°  

The sequence of stability of carbonium ions is : 

(i) 1° > 2° > 3° 

(ii) 2° > 1° > 3° 

(iii) 3° > 2° > 1° 

(iv) 3° > 1° > 2°  
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¼c½ dkcZsuk;u fdl izdkj curs gSa \ budh lajpuk rFkk 
LFkkf;Ro dh O;k[;k dhft,A 3 
How are carbanion form ? Explain its structure and 

stability. 

¼l½ vuqukn izHkko ij ,d laf{kIr fVIi.kh fyf[k,A 3 
Write a short note on Resonance Effect. 

bdkbZbdkbZbdkbZbdkbZ&&&&2222    
(UNIT—2) 

2- ¼v½ ysfDVd vEy }kjk iznf’kZr lekOk;ork dk uke fyf[k,A 1 
Write the name of the Isomerism that is shown by 

Lactic acid. 

¼c½ fuEufyf[kr ;kSfxdksa dk R o S foU;kl fyf[k;s % 3 

(i) 

2

CN

H CHO

CH OH

  

 

(ii) 

3CH

Br H

COOH

 

 

(iii) 

3

2 3

CH

H OH

CH CH
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Write the R and S configuration of the following 

compounds : 

(i) 

2

CN

H CHO

CH OH

  

 

(ii) 

3CH

Br H

COOH

 

 

(iii) 

3

2 3

CH

H OH

CH CH

 

¼l½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 3 

(i) okYMu izfrykseu 

(ii) LVhfj;kstsfud dsUnz 

Write short notes on the following : 

(i) Walden inversion 

(ii) Steriogenic center 

vFkokvFkokvFkokvFkok    

(Or) 

¼v½ T;kferh; lekOk;ork iznf’kZr djrk gS % 1 

(i) 1&isUVhu 
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(ii) 2&isUVhu 

(iii) 1&C;wVhu 

(iv) 1&gsIVhu 

Out of four which compound shows geometrical 

isomerism ? 

(i) 1-Pentene 

(ii) 2-Pentene 

(iii) 1-Butene 

(iv) 1-Heptene 

¼c½ leqfpr mnkgj.k nsrs gq, E  ,oa Z  i)fr dks le>kb,A  
     3 

Explain E and Z system with suitable example. 

¼l½ lei{k ,oa foi{k lekOk;fo;ksa dks ifjHkkf”kr dj muds 
xq.k&/keks± ij fVIi.kh dhft,A 3 

Define cis and trans isomers and write a short note 

on their properties. 

bdkbZbdkbZbdkbZbdkbZ&&&&3333    
(UNIT—3) 

3- ¼v½ n &C;wVsu dk vLFkk;h la:i.k gS % 1 
(i) xzflr 
(ii) lkarfjr 
(iii) iw.kZ xzflr 
(iv) iw.kZ lkarfjr 
The unstable conformer of n-Butane is :  

(i) Eclipsed 

(ii) Staggered 

(iii) Fully eclipsed 

(iv) Fully staggered 
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¼c½ cs;j ds ruko fl)kUr ,oa mudh dfe;ksa dks le>kb,A 3  

Explain Baeyer’s strain theory with their limitations. 

¼l½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 3 

(i) dsyk ca/k 

(ii) lkbDyksgsDlsu ds dqlhZ ,oa uko :i 

Write short notes on the following : 

(i) Banana bond 

(ii) Boat and chair form of Cyclohexane 

vFkokvFkokvFkokvFkok    
(Or) 

¼v½ us¶FkSyhu dk lajpuk lw= fyf[k,A 1 

Write the structural formula of Naphthalene. 

¼c½ csathu esa gksus okys bysDVªksfQfyd izfrLFkkiu dh fØ;k& 
fof/k le>kb,A 3 

Explain the mechanism of Electrophilic substitution 

in Benzene. 

¼l½ fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 3 

(i) csathu dh dsdqys lajpuk 

(ii) σ  o π  ladqy 
Write short notes on the following : 
(i) Kekule structure of Benzene 

(ii) σ  and π  complex 

bdkbZbdkbZbdkbZbdkbZ&&&&4444    
(UNIT—4) 

4- ¼v½ 1 ,Ydkbu ds vEyh; LoHkko dh O;k[;k dhft,A 2 

Explain the acidic nature of 1 alkyne. 
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¼c½ fuEufyf[kr vfHkfØ;kvksa dks le>kb, % 2 

(i) vkstksuhdj.k 

(ii) gkbMªkscksjs’ku&vkWDlhdj.k 

Explain the following reactions : 

(i) Ozonolysis 

(ii) Hydroboration-oxidation 

¼l½ ekjdksuhdkWQ ds fu;e dks mnkgj.k lfgr le>kb,A 2 

Explain Markownikoff’s rule with example. 

vFkokvFkokvFkokvFkok    

(Or) 

¼v½ ,YdksgkWy ds futZyhdj.k esa fn’kko.kkZRedrk dk o.kZu 
dhft,A  3 

Explain the Regioselectivity in the dehydration of 

Alcohol. 

¼c½ fuEufyf[kr vfHkfØ;kvksa dks le>kb, % 3 

(i) C;wVkMkbZu dk 1] 2 ,oa 1] 4 ;ksx 

(ii) MhYl ,YMj vfHkfØ;k 

Explain the following reactions : 

(i) 1, 2 and 1, 4 Addition of Butadiene 

(ii) Diels Alder reaction 

bdkbZbdkbZbdkbZbdkbZ&&&&5555    

(UNIT—5) 

5- ¼v½ ,fYdy gSykbM ds vk/kkj ij 2SN  ,oa 1SN  fØ;kfof/k;ksa 
dks le>krs gq, mUgsa izHkkfor djus okys dkjdksa ij 
fVIi.kh dhft,A    4 
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Explain 1SN  and 2SN  mechanisms and the factors 

that affect both mechanisms on the basis of alkyl 

halide. 

¼c½ ,fYdy gSykbM esa ,dk.kqd foyksiu ( )1E  fØ;kfof/k dks 

le>kb,A 2 

Explain the unimolecular Elimination (E1) 

mechanism on the basis of alkyl halide. 

vFkokvFkokvFkokvFkok    

(Or) 

¼v½ ukfHkdLusgh ,sjksesfVd izfrLFkkiu dh fØ;kfof/k mnkgj.k 
lfgr le>kb,A 3 

Explain the aromatic nucleophilic substitution with 

example. 

¼c½ r`rh;d C;wfVy czksekbM ds ty vi?kVu dh 1SN  
fØ;kfof/k dks le>kb,A 3 

Explain the SN
1
 mechanism of hydrolysis of tert. 

Butyl bromide. 
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